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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)

(it)

(i1i)

(iv)

(v)

(vi)

(vii)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two Sections :

Section A — Macro Economics

Section B - Indian Economic Development

This paper contains 20 Multiple Choice Questions Type questions of 1 mark

each.

This paper contains 4 Short Answer Questions Type-I questions of 3 marks

each to be answered in 60 to 80 words.

This paper contains 6 Short Answer Questions Type-II questions of 4 marks
each to be answered in 80 to 100 words.

This paper contains 4 Long Answer Questions Type questions of 6 marks each
to be answered in 100 to 150 words.

Attempt all parts of a question together.

SECTION A

Macro Economics

(A) If in an economy, the value of Investment Multiplier is 5 and
dissavings are (—)100 crore, the relevant savings at income level of

T 1,400 crore would be T crore.
(Choose the correct alternative to fill up the blank) 1
(a) 80 (b) 180
(c) 140 (d 240
OR

(B) The range of value of Investment Multiplier is always between __
and . (Choose the correct alternative to fill up the blanks) 1
(a) zero (0), infinity (eo)
(b) one (+ 1), infinity (eo)
(c) zero(0),one(+ 1)

(d) minus one (— 1), plus one (+ 1)
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2. Read the following statements carefully :

Statement 1: Savings function can be derived from Consumption

function.

Statement 2 : Consumption curve must always start from the point of
origin.

In light of the given statements, choose the correct alternative from the

following : 1

(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d)  Both Statements 1 and 2 are false.

3. Keeping other factors constant, if the price of crude oil falls in the
international market, it may lead to .
(Choose the correct alternative to fill up the blank) 1

(a) increase in trade deficit
(b) decrease in trade deficit
(c) no change in trade deficit

(d)  no change in the foreign exchange reserves

4., Identify, which of the following is not a function of the Reserve Bank of
India. (Choose the correct alternative) 1

(a)  Controller of money supply
(b)  Credit provider to commercial banks
(c) Central agency preparing the annual budget of the Government

(d)  Issuer of currency

58/3/3 5> 24 P.T.O.



58/3/3

frffiad Fert F1 STHEF R -

HY71: 3% H WU A, WRAE YA e & =] @Id o Siee 98 H
el feharm S |

FHYT2: AR IR IER G Tt geamm Few (FID) &1 sfgafg (outflow)
ISt @Td < Shise 9&1 H &Sl [ohdl ST |

feu U oAl & Itentes |, fF=feiRad § @ TEl famrew 1 w=w il

(a) HIT 19T 2 3 hed 2 319 & |

(b) HIT1EILINFIT2TT 2 |
(¢) HIT 13N 23 T B |
(d) HIT 13 22 3T B |

(%) Tr=fRad seEt S eaHgE® dfeu :
HY7 1: Tk = Bl GHA % T (oG T HIAT S 3 |
FY72: YATE T g Tieh =X Th T Bd & |
feu U SeFl & I H, =faiad # 4 @) faehed o1 =34 hifvie
(a) YT 1T 8 N HYF 2 T 7 |
(b) HYT 1T A FIT 2T |
() I 1IN 2T AAE |
(d) I 1R 2 AT A 7 |

AAAT

(@) f=Afafea d @, yarg =x 6 989 SIS : (T fased &1 =@ Fifw)
(a) Toooll 9 maet & wen i gl

(b) U foame™ =1 a1 =9
(c)  31HM, 2022 ! i Hohs1 hl S H SIHT G
@ 31 femrr, 2021 1 ot Afgd & Faw




5. Read the following statements carefully :

Statement 1 : Import of gold from Dubai will be recorded on the debit
side of the current account in Balance of Payments of
India.

Statement 2 : Outflow of Foreign Institutional Investment (FII) from
Indian stock markets will be recorded on the credit side of
the capital account.

In light of the given statements, choose the correct alternative from the
following : 1
(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d)  Both Statements 1 and 2 are false.

6. (A)  Read the following statements carefully :
Statement 1: Stock variables are measured at a point of time.

Statement 2 : Flow variables and stock variables are same.

In light of the given statements, choose the correct alternative from
the following : 1

(a) Statement 1 is true and Statement 2 is false.
(b) Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.

OR
(B) Identify, flow variable from the following :

(Choose the correct alternative) 1
(a) Distance between Delhi and Amritsar
(b) Annual expenditure of a school

(¢) Bank balance of Mr. Mukesh as on 315t March, 2022
(d) Investments of Mr. Mohit as on 315t December, 2021
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7. (A) Identify, which of the following is not a source of supply of foreign
exchange for India. (Choose the correct alternative) 1

(a) Exports of goods and services abroad

(b) Remittances by Indian workers working abroad

(c) Imports of goods and services from abroad

(d) Foreign Direct Investment (FDI) by a German automobile

manufacturer
OR
(B) Read the items given in Columns I and II carefully and choose the
correct pair of statements from the given alternatives. 1
Column I Column 11

1. Export of software by an | 1. | Demand of foreign currency
Indian company

1. Accommodating nature 2. | Profit motive
of transactions

1ii. Autonomous nature of 3. | Non-Profit motive
transactions

iv. | Loan forwarded to Sri 4. | Supply of foreign exchange
Lanka during its
economic crisis

Alternatives :
(a) 1i-1 (b) ii-2
(¢) 1i-3 (d iv-4
8. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below. 1

Assertion (A) : The value of Average Propensity to Consume (APC)
can never be zero or negative.

Reason (R): Average Propensity to Consume (APC) is independent of
the level of income.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.
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10.

11.

If the central bank wants to reduce money supply in the economy, it may
(Choose the correct alternative to fill up the blank) 1

(1) increase Bank Rate
(11) reduce Cash Reserve Ratio
(i11)  sell securities in the open market

(iv)  buy securities in the open market

Alternatives :
(a) (1) and (iii) (b) (i), (ii1) and (iv)
(¢) (1), (ii1) and (iv) (d (@D, @), (iii) and (iv)

Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below. 1

Assertion (A) : Ex-ante savings and Ex-ante investments are never equal

to each other.

Reason (R): At equilibrium level of income, aggregate demand may not

be equal to the aggregate supply.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

(a) Discuss briefly, the concept of ‘Mixed Income of Self-Employed’

under the Income method. 3
OR
(b) Defend or refute the following statement, with valid argument : 3

“Depreciation is fall in the value of an asset due to unexpected
obsolescence”.
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12.
13.

14.

15.
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Discuss briefly the determination of exchange rate under the flexible

exchange rate system.

Using a suitable numerical example, explain the credit creation process
of the banking system, in a hypothetical economy.

(a) Read the following information carefully :

“The Monetary Policy Committee (MPC) of the Reserve Bank of
India (RBI), recently increased the Repo Rate by 50 basis points.
The Rate stands today at 5-40%, whereas Reverse Repo Rate was
left unchanged at 3-:35%.”

Answer the following questions :

(i) Identify the nature of the two monetary policy measures

mentioned in the above text.

(ii) Elaborate the likely economic rationale behind the increase in

Repo Rate by the Monetary Policy Committee.
OR

(b) Suppose an imaginary economy is facing a situation of deficient
demand in the short run time period.

Discuss briefly, the probable impacts of the same on the economy.

Suppose the following information is given about a hypothetical

economy :
C=300+08Y (where, C = Consumption and Y = Income)
I, =200 (I = Autonomous Investment)

Calculate the following on the basis of the given information :
(a)  Equilibrium Level of Income

(b)  Aggregate Demand at Equilibrium Level of Income

(c) Marginal Propensity to Save
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16. Read the following text carefully :

In India, after Covid-19 period, household and private sector
consumption, as measured by Private Final Consumption Expenditure
(PFCE), was ¥ 39-7 trillion in nominal terms in Q1 FY23, compared with
T 284 trillion for the same period last year, and ¥ 39-2 trillion in the
fourth quarter (Q4) of 2021 — 22 (FY22).

As a percentage of Nominal GDP, PFCE was 611 per cent, compared
with 55-5 per cent in Q1 FY22. However, in real terms at constant prices,
PFCE grew just 9-88 per cent, compared with Q1 of 2019 — 20 — the year
before the Covid-19 pandemic.

“Recovery in domestic demand is reflected in the growth rates of PFCE
and Gross Fixed Capital Formation (GFCF) over the corresponding
quarter of the previous year,” said D.K. Srivastava. GFCF came in at
T 19 trillion in Q1 FY23, compared with ¥ 14-4 trillion in Q1 FY22.
However, it was slightly lower than ¥ 20-2 trillion in Q4 FY22.

In the media briefing after the GDP numbers, Finance Secretary
T.V. Somanathan said this trend was expected as GFCF in present Q1

was usually lower than the previous year’s Q4.
On the basis of the given text and common understanding, answer the

following questions :

(a) Compare and analyse the trends of change in PFCE as a

percentage of GDP, both in real and nominal terms. 4

(b)  “Private Final Consumption Expenditure is an important factor
determining Gross Domestic Product at Market Price.” Justify the

given statement. 2
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17. (a) () “In the recent times, the Government of India has incurred a
lot of expenditure on acquisition of indigenous defence items
under ‘Make-in-India’ programme.”

Identify and discuss the two types of budget expenditures
which may by undertaken by the Government as suggested in
the above statement. 4

(ii) State any two examples of revenue expenditure of the

Government. 2

OR

(b) (1) Two friends, Deepak and Krish were discussing the impact of
increase in GST rates on luxury items, as recently undertaken
by the Government. Krish was of the view that most of the
luxury items (like foreign travel, imported cigarettes, etc.)
should be taxed exorbitantly, while the items related to daily
consumption of poor and middle class should be tax-free.
Identify and explain the objective of the Government budget

Krish is suggesting. 4
(ii) State the meaning of ‘primary deficit’ in the government
budget. 2
SECTION B

Indian Economic Development

18. (A) Identify the correct alternative with reference to the following
statement : 1
“Between 1966 — 76, Mao introduced this movement under which
professionals and students were asked to work and learn from real
life situations prevailing in the countryside of China.”
(a) Commune System
(b) Great Leap Forward
(c) Open Door Policy
(d) Great Proletarian Cultural Revolution

OR

58/3/3 11> 24 P.T.O.
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(d) (1), (i1) 9 (iii)

AT

(@) ShIfd < UTHIOT |RE JTTel # 9igd 9 qiadd 1 gadTd fepa
oT, ifeh 3H UTHT foepr o fafttl =eenl &1 3Icqes /O <Al 3R
3@ L Tafagdr gge i ot |
(Tek oM w3 & fou g fashew &1 =@ i) 1

(a) vad
(b) T
(c) it
@ B
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(B)

(A)

(B)

Read the following statements carefully :

Statement 1: In the agricultural sector, communes were
established, where land holdings were allocated to
individual households for ownership.

Statement 2 : Special Economic Zones (SEZs) were established to
attract foreign investments and technology.

In light of the given statements, choose the correct alternative from

the following : 1
(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

Micro credit programmes play a vital role in ensuring an overall
development of the rural economy as they
(Choose the correct alternative to fill up the blank) 1

(i) provide financial support

(ii) lead to women empowerment

(iii) enhance the reach of formal credit system
Alternatives :
(a)  Only (1) and (i1)
(b)  Only (ii) and (iii)
(c) Only (i) and (iii)
(d (@), (1) and (ii1)
OR

revolution was the harbinger of major changes in the

credit system as it led to diversification of the portfolio of rural
credit towards production-oriented lending.
(Choose the correct alternative to fill up the blank) 1

(a)  White
(b)  Silver
(c)  Blue

(d)  Green

5 PT.0.
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(%) Trafafad fasedl @ @, NITI =0 § NITT % §&l U €9 i 989
I
(a) National Institution for Tribal India
(b)  National Institution for Technical India
(c)  National Institution for Transforming India
(d) National Institution for Training India
HAYAT
(@) AYIILAT H, GHAT T ETHcd g T, HTasieh o Tt
T & g fohaT ST B |
(feh T 9 & forw @&t faheq &1 =@ hifse)
(a)  FESETE (b)  Ysfiard
(c)  SHaI® @ falza

“grferea | amfdes Wt @ MYAAT % qA: AT % g HRU FAC ST Hehd
%l”

qge-T foh, fefiad § 9 H-91 399 § U 7§87 8 Tehdl |

()  Toresft son w sed) v

(i) TR =oues (Tufe) v Gehdes

(i) AR HN o™

forepey
(@) (1), (i) 9 (ii) (b) (i) 9 (iii)
(¢) (1) (iii) (d)  Had (ii)

frafcTiga =peri =t dfqu : HAfieped (A) IR RO (R) | A= fou 7w foepedi |

T U Tdl faehew gihw

STYFHYT (A) : TR TI9y fear I SrEishAl & WIEH & SUSTTRY ol %H
T T TAE HL Th! § |

FRU(R): A FETa1 IVH HE¥HA T a1 T0F I F YR o L

3|

%IW‘? :

(a) TP (A) 3 SR (R) HI T & JN SR (R), AR (A) hI
& ST KT 8 |

(b)  IYHIA (A) 3T RO (R) THI T &, wiehd HRUT (R), JHAT (A)
I & AT FFT T © |

(¢) IR (A) T 3, Wlhd RO (R) I8 3 |

(d) IR (A) ITET B, Afehd SR (R) TF 7 |
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(A) From the following alternatives, identify the correct full form of
‘NITT in NITT Aayog :
(a) National Institution for Tribal India
(b) National Institution for Technical India
(c) National Institution for Transforming India
(d) National Institution for Training India

OR

(B) Ina economy, resources are owned and operated by both
public and private sectors.
(Choose the correct alternative to fill up the blank)
(a)  Socialist (b)  Capitalist
(c) Democratic (d) Mixed

“Multiple reasons for economic slowdown and re-emergence of poverty in
Pakistan may be enumerated.”

Identify which of the following might not be one of them.

(1) Rising dependence on foreign loans

(i1)  Stable macroeconomic indicators

(iii) Unstable agricultural growth

Alternatives :
(a) (1), (11) and (1i1) (b) (i1) and (iii)
(¢) (1) and (iii) (d)  Only (ii)

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below.

Assertion (A) : Government can try to reduce unemployment through
special poverty removal programmes.

Reason (R): Such poverty removal programmes directly or indirectly
lead to employment generation.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.



23. (&) T FARFISRHET (CFC) MFepl a 31 AH  &Ihrt
TERAT o 39T R Iidae TR o Hehed i STYATT |
(feh T WA & forw @&t foepew 1 =3m HifSe)
(a) I TIrehid
(b)  UfE WA
(c) WIf~eTat MlhiaA

d) i A ki i

AT

(@) T et (wieefia Ademedt) & oger, fmfafgd & @ +H-81 gad
forepTa UTed oA <1 feem ° U 3Tavas when 77 7 ?
(a) UHd SHEEAT i AT shl Y01 &THAT deh HIfHd i
(b)  SWTA AT Tehrlehl TT(
(c)  TTohTuli GETEHT o TAShEUT i G ISl hi g & AT 7 |l
(d) TG % HRU e IEHATHT H AR

24, Ti=fefad suEl i ufeu : e (A) 3 R (R) | 9 few v foskedi d
T U Tdl faehew gihw

7B (A) : TEaAAT 3, Tediaes & § 9l oy &t Tmavashdt o SR
Traleh & ! T Yfieht € TS off |

HRU(R): et & ferell off srefoyaen 61 fig i gt B |

faeney

(a) 3R (A) 3R HROT (R) A1 T § 3N R (R), AR (A) h
T SIS HLal B |

(b) AR (A) IR ST (R) Al TF 8, Afhd RO (R), AMHAT (A)
1 TE AR FgT AT B |

(¢) 3T (A) T 3, Wlhd RO (R) I8 3 |

(d) 3R (A) FHT B, AAfehd SR (R) TF % |
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23. (A adopted the resolution to ban the wuse of
Chlorofluorocarbon (CFC) compounds along with other ozone
depleting chemicals.

(Choose the correct alternative to fill up the blank) 1

(a) Kyoto Protocol
(b) Paris Protocol
(¢) Montreal Protocol

(d) Brundtland Commission Report
OR

(B) According to Herman Daly (an environmental economist), which of
the following is not an essential step towards achieving sustainable
development ? 1

(a) Limiting human population to carrying capacity of the
environment

(b)  Input inefficient technological progress

(c) Rate of extraction of renewable resources should not exceed
rate of regeneration

(d)  Correction of inefficiencies arising from pollution

24. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below. 1

Assertion (A) : Post independence, public sector was given a prominent
role, due to requirement of huge investments in the

secondary sector.
Reason (R): Industrial sector is the backbone of any economy.
Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

58/3/3 23> 24 P.T.O.



25. vgETHY T, fefafed & 9 sH-a1 wra & fmio g snfede fowe o 7en
ToAY HEY TATUG TgT T 2 |

(a) U ARMYa =afs 6 gon § v Wifera safe it T eman siferes
el 8 |

(b) ARl W UfIETUr Teh WGl o IR H HHI HUT |

() Ty sriad 1efeaasy & T aeM 2 |

@) Tefea gua arfas aaamafy & fofa o § g g 2 |

26. f=faRga swem =t ufeu : s1fimrem (A) 3R w01 (R) | Fi= feu T faspedi & &
Teh Wl faehed AT

STFHIT (A) : T 91 Jog T Ao FHMAT h1 Teh S8l Hohdeh @ |
FRU(R):  WRd, UIh&d d HI9 | ST (male child) & Q. smerfiesar

foamm 2 |
IEETC
(a) MR (A) 3R FRO (R) THI T 8 3R FHRW (R), ARRRA (A) H
T SIS LAl B |

(b) MR (A) 3T SR (R) ST T &, Afehd HRUT (R), AMMHI (A)
1 Tt ST 7T war R |

(¢) IR (A) T 3, Wfhd RO (R) I8 3 |
(@) 3R (A) T B, Afehd SR (R) IF 7 |

27. T=faRad el i SHYE® e :

FYT1: =t feeriEt grn SHEe FEee e § Ted gad fifd” &
TN 3TcTd YATa @ | feham o o |

FYT2: AMYH foagHl & AIAR, Thal FaH ifd gRI ol U (T Th
TR JeNi § AfgATsTi 1 314Td) | fiRmEe o1rft of |

feu U Sl & It 1, f=feifad § 8 @& fasew w1 w=w Fifve

(a) T 18T 8 N HA 2 37T 7 |

(b) AT 1T & I FM 2T 2 |

(¢) YT 1R 2THI TcF 7 |

(d) HIT 1R 2 gHl T F |
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26.
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Identify which of the following does not reflect a direct relationship
between human capital formation and economic growth.

(a) Employability of an educated person is higher than that of an
uneducated person.

(b)  On-the-job training will reduce the skills of labour.
(c) Healthy workforce is a boon to the economy.

(d)  Digital information helps in taking real time decisions.

Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below.

Assertion (A) : Lower child mortality rate is a better indicator of gender
equality.

Reason (R): Preference for a male child exists in India, Pakistan and
China.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

Read the following statements carefully :

Statement 1: ‘One-child policy’ was very effectively used in controlling
the population by the Chinese authorities.

Statement 2 : One-child policy, according to scholars, led to a decline in
gender ratio (the proportion of females per 1000 males).

In light of the given statements, choose the correct alternative from the
following :

(a)  Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d)  Both Statements 1 and 2 are false.



28. =ATEA hIWC foh fore TR U wXfad ‘fY fouom gomelt’ fepami <t o1 dfg
T HE Bl 8 |

29. (F) HAHH-SHEE U I TRATNG HINTT qAT $HHT Hed FATST |

HAAAT

(@) 9AWa Sl 9 Aea fose’ § fadg i |

[ NI e o

30. Tr=fcIRad afceTeht I eATYE® UGN

fafi &7l 4 39157 Fhyg #1 Igraar, 1980 - 2015

31.

27 1980 — 90 2011 - 2015
P FET gar P FET gar
IRa 31 7-4 69 2:3 5 8-4
= 59 10-8 135 4-1 81 8-4
BliE2=E] 4 77 68 2:7 34 4-4

feu U auf % RM, WRa 9 Ui # Hl &= § Icaed ghg SR
(trend) %1 fargeryor iR |

A= dehl gl Soai@ <hifere for f=fefigd e aca § 319en 318

(=)

(@)
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GaIsieh Ifd guiE 2 |

~

M o o
cldllend Adal (endl Slldl % |

AT 3Tfegaeel 4 B o fadl § hried o fa=rienr 6 fesm &

et W AR W ARSI hl AMYH HEGRT i Thdl =S 3G H




28. Elaborate how a well-structured ‘Agricultural Marketing System’ helps
the farmers to increase their income.
29. (a) Define worker-population ratio and give its significance.
OR
(b) Distinguish between ‘Human Capital’ and ‘Human Development’.
30. Read the following schedule carefully :
Trends in Output Growth in Different Sectors, 1980 — 2015
Country 1980 - 90 2011 -2015
Agriculture | Industry | Service | Agriculture | Industry | Service
India 31 7-4 6-9 2-3 5 8-4
China 5-9 10-8 13-5 4-1 81 84
Pakistan 4 77 68 2:7 3:4 4-4
Analyse the output growth trend in the three sectors over the given years
between India and Pakistan.
31. State, whether the following statements are true/false, with wvalid
arguments :
(a) Indian economy has shown satisfactory progress towards
formalisation of the workforce in the recent past.
(b)  Economic participation of women as homemakers is not accounted
for in the Gross Domestic Product.
=]z E]
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(%) “@3 orefemEht ¥g WD 7 foh 1991 1 i gum Uik 7 N & W
gfceeed TG STl & |7 91 39 fgu T e ¥ H¥g0d © ? 39 W
9eT | AT doh Tqd ST |

AAAT

@) () fofew e s H stefie Hifa it el g i f samen
HIFIT |

(i)  HRAE T=eyia JISHT Ifsham o TR 32941 1 AW fafgu |

frfiIiea & &1 eIHgEe dfeu :

TIaTAl o 1Y, YR 3 fEnfies ATHHAYET o 3799 Ie9F hl ITed i & AT
e fITEAT Hisd 1 T AT o1 | UROmHEEY, IfEnfes e 3Tcd
HEIYUl S T AT | TSIl IWd, eIk foshrE 9uw g1 guehl H 9gd i
of, @EdR T gel o THd Ao s|fy 5 | fdia aem |3 gu 1 SSienfies

Shifa’ o1 I foparm o | 3| o1ty | <fig ofienfies fasm @t & uftefaa 39
&I SR 9

() alees ifqal d sfremfietn W o |

(i)  frenfires fifd F AeT 4 enfies faehE i §&T 3¢9 a9 |

(it) STl &= H &war FHufor % gHe o fag 9’ fe e |

(iv) §HS o STUEThd S8l af qefl &l ITHIRIST i IR ¥ Tl TR
T IcaTe <t /I H gy |

(v) oRq 99d 9 faestt | Ied SeieEt g a|ida sTeiek faear st f |

13T 71T 7Te TIT G GHE & SR K AEc71Gd J941 & I G0 :

(%) ura & Tt geadfa Giemr St anamEty 1 Seo@ HIf |

(@) a6t fgd geadfa AsHT 1 Sk fhe et Srar B 2

(M) fgdm 3 g doedta ASETeT o Sfdid WRA i dig SfEnfieh fasm
Tid o fopegl 1 Run bl T == hHIfvT |




32. (a) “Many economists believe that the economic reforms process of
1991 had adversely affected the agricultural sector.” Do you agree
with the given statement ? Quote valid arguments in favour of your

answer. 4
OR
(b) () Explain any two shortfalls of the industrial policy under the
British rule. 2
(i1) Quote the four goals of the five year plans process of India. 2

33. Read the following text carefully :

With independence, India chose the closed economy model in pursuit of
its objective of self-sufficiency. As a result, industrial structure has
become considerably important. In the post-independence era, the
industrial growth was rapid during the first two decades, especially
during the Second and Third Plan period. The Second Plan introduced
‘Industrial Revolution’ in the country. The main reasons for high rates of
industrial growth witnessed during this period were due to :

(1) Emphasis on industrialisation in economic policies.

(i1))  Making industrial growth the main objective in the industrial
policy and planning.

(iii)) Huge investments being made to support capacity creation in the
industrial sector.

(iv) Growing demands for a variety of new products on the part of the
urban consumers and the relatively better-off sections of the
society.

(v)  Pace of economic expansion supported by domestic savings and
inflow of resources from abroad.

On the basis of the given text and common understanding, answer the
following questions :

(a)  State the time period of the Second Five Year Plan of India. 1

(b)  Who is considered as the Father of the Second Five Year Plan of
India ? 1

(c) Discuss briefly any two reasons behind the industrial growth
during the Second and Third Five Year Plans of India. 4
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(i) e Tsg o fohr # e shi yifirhr 1 smen i |
(i)  9Rd &t srfegaedr § grHivr §feT % Ag 1 Ioai@ HIfoT |

AT

() A feEret Aegl S B B 2

i) Torem e (1964 — 66) A TRt w fywifer &1 Iecc@ qen
o= Fifsu |

(i) fou U fa= & smcAre H, 9o fasE ghHafeea w & forg foredt
Teh WHITT Y U89 o 9T shifoig |

Fig: [AEfiga Fv7 Fae gheanfaa ghenfen & fom 7. 4.
34 (@) (iii)  TIT W& :
YT o forHl Tk i <l s HifSu |




34. (a)

(b)
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(1)

(i1)

1)

(i1)

(iii)

Note :

Explain the role of education in the economic development of
the nation.

State the importance of rural banking in an economy like
India.

OR

Who is a casual wage labourer ?

State and discuss any one recommendation of the Education
Commission (1964 — 66).

In the light of the given image, identify and explain any one
strategy to ensure sustainable development.

The following question is for the Visually Impaired
Candidates only in lieu of . No. 34 (b) (iii) :

Explain any one function of the environment.



